1000/0 2do)/d(m_1 + m_2) [1/GeV]

Ratio to CMS

10

[HEN

=
<
[

|
o
R

|
o
2

—
<
i

=
o
&

[EEY

0.5

Jets

7000 GeV pp
ARLEE B B BN B

Trimmed dijet mass (anti-k_(0.7), 2500<p <600, |y|<2.5)

| IIIIIIII| IIIIIIII| IIIIIIILI_

Rivet 3.1.10, = 500k events

N

— ©’
— ™
| <t
= (40)
= u ©
— o
B (49)

—i
= = .=
= S I e
~ ® CMS #32
_— —a— Pythia 8.170 default =
= ¢+ Sherpa 2.2.9 default 315

(&)
B 1w
= =0
— ] QO
— -1 ©
:! + | | | | | | | | | | | | | | | | | | | | | | ] I~ E

(m_ 1+m_2)/2[GeV]



	Contents
	Page 1


